

Hamburg Township Public Safety Department



PO BOX 157 · HAMBURG, MICHIGAN 48139
PHONE: (810) 231-9391 · FAX: (810) 231-9401
EMAIL: <u>HATP@hamburg.mi.us</u>
RICHARD DUFFANY, DIRECTOR OF PUBLIC SAFETY

TO: Hamburg Township Board

FROM: Chief Richard Duffany

DATE: December 12, 2024

RE: Agenda Item Topic: Purchase of Fire Portable Radios

General Ledger #: 206-000.000-980.000

Number of Supporting Documents: 1

NEW/OLD BUSINESS: XXX New Business

Old Business – Previous Agenda #:

Requested Board Action

• Motion to approve the purchase of five (5) Kenwood VP8000BKF2 portable radios, with accessories, as outlined in the attached quote from Digicom Global, Inc of Troy, MI for a total cost of \$23,732.35.

Background Information

As part of the department's long-term capital equipment plan, the department is scheduled to replace five (5) portable radios for fire personnel this fiscal year. Fire command officers have made the determination to continue purchasing Kenwood portable radios as the replacement radios. The Kenwood portable radios are available at state contract pricing through Digicom Global, Inc of Troy, MI which is a single source vendor for the radios.

Budget Impact

This purchase is included in the approved FY 24/25 budget and will not adversely affect the budget.

Respectfully,

Chief Richard Duffany Director of Public Safety Digicom Global 911 Inc.

675 East Big Beaver Suite 105 Troy, Mi. 48083

Estimate

Date	Estimate #
12/10/2024	5283

Name / Address	Ship To
Hamburg Township Fire Dept 3666 E Michigan 36 Pinckney, MI 48169	Hamburg Township Fire Dept 3666 E Michigan 36 Pinckney, MI 48169

			Project
Description	Qty	Rate	Total
Quote prepared for Chief Newton C 734-564-2812 O 810-222-1104 jnewton@hamburg.mi.us			
Handheld radio VP8000 model replaced the VP6430 you have now. New radio is multi band able, Mil Spec H, Wi-fi upgradable, bluetooth included, 3 watt speaker, larger top display.	5		
VP8000BKF2 -3-31-25 AES & -300 SPECIAL THROUGH 3-31-2025. Multi band portable radio. FREQUENCY BAND OPTIONS SOLD SEPARATELY. Includes Black Housing, Standard Key Pad and 3 watt speaker, Multi key DES and ARC 4 encryption, WIFI, bluetooth, 1024 channels & 3 year warranty. State Contract \$1964 - \$300 = \$1664 PDR 5107928	5	1,664.00	8,320.00
832VP8000-7800 VP8000 700/800 MHz frequency band option VIK 8322000002 License key for P25 conventional for VP-6000/7000/8000 series. Kit price given field price \$480.	5 5	572.00 332.00	2,860.00 1,660.00
VIK 8322000005 License key for P25 Phase 1 trunking for VP-6000/7000/8000 series EFJ 8322000005 Kit or Field price	5	116.00	580.00
VIK 250VP5000001 VP5 add intrinsically safe option for VP5000. Requires IS rated battery	5	94.40	472.00
VIK 8323000004 AES Multi Key4 DES-OFB and AES256 (includes Multikey) FIPS140-2 encryption module includes DES if requested. Note for VP5000 must purchase KWD-AE30K AES	5	448.00	2,240.00
Encryption Module VIK 8322000006 P25 Phase 2 / TDMA, License key. All radios	5	380.00	1,900.00
require P25 Phase 1 Trunking KRA-32K 700 800 MHz antenna KNB-LS7-IS 3800 mAh LiIon IS battery	5 10	34.00 292.80	170.00 2,928.00
		Subtotal	
		Sales Tax (6.0%)
		Total	

Digicom Global 911 Inc.

675 East Big Beaver Suite 105 Troy, Mi. 48083

Estimate

Date	Estimate #
12/10/2024	5283

Name / Address	Ship To
Hamburg Township Fire Dept 3666 E Michigan 36 Pinckney, MI 48169	Hamburg Township Fire Dept 3666 E Michigan 36 Pinckney, MI 48169

			Project
Description	Qty	Rate	Total
KSC-52 charger comes equipped with the B-Pocket charger insert which is compatible with the following battery types: KNB-L1, KNB-L2, KNB-L3, KNB-LS5, and KNB-LS7. The pocket may be removed and exchanged for use with other battery types. B pocket for KNB-L1/L2/L3/LS5/LS7 style batteries for VPx000	5	73.84	369.20
KMC-70M Mil Spec IP67 (Immersion) Intrinsically safe speaker mic with Active Noise Reduction,3 programmable buttons and 3.5 mm audio jack	5	126.64	633.20
VIK 2990600013 EFJ 2 year extended warranty VIK KW9130-LF VP8000 Leather Case with integrated belt-loop plus D-rings for optional shoulder strap for fire service. Supports larger capacity KNB-L3, KNB-LS7 and KNB-L11 batteries, or KNB-L2 with included padded spacer insert. With Retaining Strap.	5 5	164.00 64.00	820.00 320.00
AW ZZ2020-500 Shoulder Strap heavy duty extra thick average3/16 leather swivel snaps adjusts from 61 to 69 inches tip to tip. Made in the USA.	5	54.27	271.35
AW-Antisway/LTHR-6in Anti-Sway Leather Strap 6 inch Radio Programming Fee - Portables, Base, Dash, Single head Remote, Dual Head remote, ECT	5 5	12.72 15.00	63.60 75.00
MPSCS Customer will pay the \$250.00 per radio one time programming fee directly to the state. This is good for the life of the radio.	5	0.00	0.00
MiDeal Pricing per EFJ / Kenwood Michigan State Contract # 210000000896 or (21*896). This State Contract Number must be listed somewhere on the PO.	5	0.00	0.00
l		Subtotal	
		Sales Tax (6.0%)	
	Γ	Total	

Digicom Global 911 Inc.

675 East Big Beaver Suite 105 Troy, Mi. 48083

Estimate

Date	Estimate #
12/10/2024	5283

Name / Address	Ship To
Hamburg Township Fire Dept 3666 E Michigan 36 Pinckney, MI 48169	Hamburg Township Fire Dept 3666 E Michigan 36 Pinckney, MI 48169

			Project
Description	Qty	Rate	Total
ENC -3-31-25 SP EFJOHNSON Encryption Upgrade and \$300 off New Purchase Promo -3-31-2025: AES Multi Key with New radio purchases of specific packages that include AES Multi Key are covered in the promo. SPECIAL ENDS MARCH 31, 2025 PDR 5107928 VP8000 Blk Intrinsically Safe Single Band Portable Radio with AES Encryption Special SUBTOTAL:	5	50.00	23,682.35 50.00
Shipping	1	30.00	30.00
		Subtotal	\$23,732.35
		Sales Tax (6.0%	
		Total	\$23,732.35